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Q.1 and are secondary agencies of socialisation
Options 1. School; media

2. Religion; family
3. School; family
4. Family; mass media

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.3 According to Jean Piaget, at which stage child develops hypothetical deductive
reasoning; and scientific thinking begins to emerge?

Options 1. Pre-operational

2. Concrepte operational
3. Sensori-motor

4. formal operational

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.4 Which of the following hinders problem- solving skills among students?
Options 1. Use of analogies

2. Establishing cause —effect relationships

3. Means end analysis

4. Functional fixedness

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.5 Nisha can detect and respond appropriately to the moods of her friends and family
members and wishes to become a Psycho-therapist. Which kind of intelligence she
possesses and should further develop?

Options 1. Naturalist intelligence
2. Fluid intelligence
3. Spatial intelligence
4. Interpersonal intelligence

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.6 Which of the following does not illustrates a constructivist learning approach?
Options 1. Rote memorization and verbatim recall

2. Collaborative learning

3. Multiple interpretations

4. Learning at individual pare

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.8 Students are eager and motivated to learn when teachers:

Options 1. Engage the learners and make them an integral part of the teaching — learning process
2. Put them under stress and pressure to perform well in test.

3. Have complete control over the learning process.

4. Offer rewards for ‘success’ and punishment for 'failures’

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.10 Development proceeds in the direction of the longitudinal axis. This principle of
development is called principle of

Options 1. Interrelation

2. Continuity

3. Proximodistal
4. Cephalocaudal

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.11 Progressive Education:

Options 1. ignores individual differences

2. respects diversity

3. ability- based fixed grouping promotes
4. uses standardized assessment

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.12 Assertion(A): A teacher should not give space to discuss children’s explanations of
various phenomenon.

Reason(R): Children are not capable of developing causal explanation on there are

Choose the correct option.
Options 1. Both (A) and ( R ) are true; and (R) is the correct explanation of (A)
2. Both (A) and ( R) are false

3. (A) Is true but (R ) is false.
4. Both (A)and (R) are true but (R) is not the correct explanation of(A)

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.13 In the teaching —learning process, errors analysis is
Options 1. Irrelevant.

2. relevant only for students.

3. relevant only for teachers.

4. relevant for students as well as teachers.

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.14
Options 1. labelling

Inclusive education emphasises upon

2. equity
3. segregation
4. equality

Question Type : MCQ
Status : Answered
Chosen Option : 4

socio- constructivist frame?

Options 1. Promoting all learners to give identical answers and follow the same method
2. Appreciate asking of questions by the learners

3. Encouraging learners to learn from a variety of sources

4. Giving opportunities for group discussion

Q.15 Which of the following is not a characteristic of a middle school classroom rooted in

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.16 Traits such as divergent thinking, originality in ideas and potential for novel
production are associated with

Options 1. Creativity

2. Learning Disability

3. Autism

4. Attention Deficit Hyperactivity Disorder

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.17 According to Lev Vygotsky theory,

with adult guidance or by working with a more knowledgeable peer.
Options 1. Zone of significant development

2. Zone of mental development

3. Zone of advanced development

4. Zone of proximal development

is the area between the child’s
independent performance and the level of performance that the child could achieve

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 Contemporary theorists consider ‘Childhood’
Options 1. as a social construction

2. as a period of great stress and anxiety

3. as a scared period in all cultures

4. as a period of development till the age of puberty.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.21 Assertion (A): it is important for a teacher to focus on development of children's
metacognitive capabilities

Reason (R ): When children become aware of their own beliefs and thinking, they
become more capable of regulating their own learning.

Choose the correct option.

Options 1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. (A)is true but (R ) is false

3. Both (A) and ( R) are true but (R) is not the correct explanation of (A)

4. Both (A) and (R ) are false

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.22 As per national education policy 2020,the form of assessment in schools should
shift from to

Options 1. formative; summative
2. summative, formative
3. learning; rote memorization

4. flexible approaches ; rigid standardized testing.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.23 To successfully include students with Dyslexia, which of the following should be
avoided?

Options 1. Flexible curriculum

2. Individualized goal sets

3. Multi-sensory pedagogical approches
4. Standardized assessments

Question Type : MCQ
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S16D28700/16419013703993361/2330...

5/62



1/24/22, 2:38 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S16D28700/1641901...

Q.24 While facilitating the learning of a new concept, a teacher should;
Options 1. ignore social- cultural context of students

2. present information in disconnected chunks
3. Ignore previous knowledge of students
4. relate new information with prior understanding of students

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.25

Options 1. (ii) (iii) (iv)

Which of the following practices promotes inclusion in the context of children with
disabilities?

i. Barrier free access

ii. Assistive devices and appropriate technology- based tools

iii. Choice of regular or special schooling as well as home — based education

iv. Uniform structured curriculum and means of assessment

2. (i) (ii) (iv)

3. (i) (iii) (iv)

4. (i) (ii) (iii)

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.27

Options 1. Maturation, activity, social experience, equilibration

Which of the following are the four factors that influence development according to
Jean Piaget?

2. Positive and negative reinforcement , presentation and removal punishment
3. Culture, language, social interaction, Per tutoring
4. Organization, equilibration, adaptation, culture tools

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.28 Which of the following emotion is likely to be experienced by a student, when an
activity is valued by him but he is given very low control to execute that?

Options 1. Frustration

2. Shame

3. Boredom

4. Anxiety
Question Type : MCQ

Status : Answered
Chosen Option : 4
Q.29 According to Lev Vygotsky, is the foundation of all higher cognitive
process.

Options 1. equilibration
2. language
3. organization
4. adaptation

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 Which of the following kind of goal-setting will intrinsically motivate students for
learning?

Options 1. Self -directed
2. Peer- directed
3. Parent- directed
4. Teacher — directed

Question Type : MCQ
Status : Answered
Chosen Option : 1

Section : Mathematics and Science
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.2 Which of the following represents correct set of the cells and their shapes in human beings

A— Nerve cell i) flat shaped

B - Red blood cell i) disc shaped

C— White blood cell iii) long and thin

D — Muscle cell iv) changing shapes

E — Skin cell iv) long and branched

Options 1 A i B—iii, C—iv,D—v, E-i
2. A—v, B—iii, C—ii, D—i, E-iv
3. A—v,B—ii, C—iv, D—iii, E -
4. A—iii, B—iv, C—v, D—1i, E -ii

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.5 Read the following paragraph and fill in the blanks with the correct option

Every object is attracted by earth with a force which depends on
the _A of the object and acceleration due to gravity.
The _ B of the object is equal to the force with which it is attracted towards earth. However, on the surface of moon

C changes but _D__remains same.

Options 1 - A —mass, B— weight , C—mass, D - weight

2. A—mass, B—weight, C—weight, D - mass
3. A—weight, B—weight , C—density, D - mass

4. A—weight, B—mass, C—density, D - mass

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.6 According to the NCF-2005 position paper on teaching of Science, which of the following is not true about science?

Options 1.
The predicative and explanatory power of science helps in understating systems of nature

2.

The methodology of science and its demarcation from other fields is a matter of philosophical debate.

3. Science is completely objective and value-neutral

4.
Science has the potential to be emancipative or oppressive, beneficial or harmful

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q7 Which of the following statement is not correct?

Options 4 A triangle can have all its angles acute.

2.
Sum of any two angles of a triangle is greater than the third angle.

3. Atriangle can have only one obtuse angle.

4,
Sum of any two sides of a triangle is greater than the third side.

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q8 |f 3n angle is 30° less than two times its supplement , then the angle is
Options 1 70 o

2.90°

3.130°

4.110°

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Q1 dentify the statement which is NOT true.
Options 1.
Between any two rational numbers, there are infinitely many rational numbers.
2.
Between a positive rational number and a negative rational number, there is always a whole number.
3. Every non-zero rational number has a multiplicative inverse.
4.
There exist a pair of rational numbers such that there is only one rational number between them.
Question Type : MCQ
Status : Answered
Chosen Option : 4
Q12 A Band C stand for different digits such that B is not a prime number.
fFABx5=CAB,thenA+C=
Options 1 3
2. §
3. 7
4.2

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Options

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.14 A teacher introduced addition of 56 and 22, in following way:
56+ 22 =(50+6)+ (20 + 2), then she adds all tens and all ones. Which strategy she adopt?

Options 1 Comparison of numbers

2. Division of numbers
3. Complementary addition

4. Decomposition of numbers

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.15 The mean of the five observations x+1, x + 2, x + 3, x + 6, x + 8 is 11, Then, the mean of the three middle observations
is

Options 1 11
32
2. i
3
3. 12
4. 10

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.16  Angles of a triangle are in the ratio of 2: 3: 5. The sum of the smallest and largest angles of the triangle is
Options 1 144 o
2. 162 °
3. 90 2,
o
4126

Question Type : MCQ
Status : Answered
Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S16D28700/1641901...

Q.17  Aniron blade is dropped into a bluish solution. After about half an hour, the colour of the solution is found to have
changed to green and a brown coloured deposit is observed on the nail. Based on this information which of the
following can you conclude?

Options 1 The brown deposit on the blade is rust (Iron oxide)
2. The green coloured solution is copper sulphate.
3. The blue coloured solution is Iron sulphate.

4. The brown deposit on the blade is copper.

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q18 \When an acid reacts with a base, which of the following is/are produced?
Options 1 Oply water

2. Salt, water and heat

3. Only salt

4. Salt and water

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q19 \Which of the following is greater than 12 x (— 3+5)?
Options 1. ex [(— 3)+(— 2)]

2. gx|—p—3+(—2H

3. 12 %[ 3+4§— 5]

4. @xl= 2) =42

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q20 \Which amongst the following is incorrect about science?
Options 1 grience is always an independent enterprise

2. Science is an interdisciplinary area of learning

3. Science is a rapidly expanding body of knowledge

4. Science is a particular way of looking at nature

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21 ABCDisaquadrilateral in which'/AC and BD bisect each other at right angles: Then, the quadrilateral ABCD is a
Options 1 trapezium
2. rhombus

3. rectangle

4. kite

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Options

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q23 \Which of the following numbers is divisible by 6?
Options 1. 15358
2. 43538
3. 53636
4. 46356

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 Thetable below lists the melting points of a few metals & alloys. Based on this table identify which material will be
most suitable to be used in making the following electrical appliances?

Name of the metal Melting point in °C
Copper 1084
Brass 930

Lead 328
Nichrome 1150

Lead & Tin 200
Aluminium 660
Berylium Copper 865-955

2

Options 1 Room heater element ~ Nichrome; Fuse wire — Lead & Tin

Room heater element — Beryllium Copper, Fuse wire— Lead & Tin

3. Room heater element — Copper, Fuse wire — Aluminium

4. Room heater element — Lead, Fuse wire — Brass

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.26 Theinternal length and breadth of the base of a cuboidal reservoir are 12m and 8m, respectively and its depth is 4m.
What is the cost of painting its internal surface excluding its top at % 50 per m2?

Options 1. ¥ a0
2. 17,600

3. 12,400
4. $12,800

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.27 I the product of (2x2 — 5x — 4) and (x2 + 7x + 8), if the coefficient of x2 is @, and the coefficient of x is b, then what is
the value of (a- b)?

Options 1 77
2. 87
3. 45
4. 49

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.28 “Repulsion is a sure test to identify magnets” This statement is an example of
Options 1. pradiction
2. Observation
3. Inference
4. Hypothesis

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.29 § o
Which of the following is smaller than % ?

Options 19
1. 6 —

30

7 1
2. kD=
10

3

4 3
322 43>
3 &

3 3
422 432
3 &

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.30 The radii of the bases of two right circular cylinders are in the ratio of 3 : 4 and their heights are in the ratioof 4 : 5,
The ratio of their curved surface areas is

Options 1, 3 - g
2.5:12
3.4:9
4. Iz 1F

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.31 A pair of dice is thrown simultaneously. The probability that the product of the numbers on the two dice is a prime
number is

Options 1
1.

N

w
ol = W [ RN S|
S~

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.32  Four balls are thrown with same force on four different types of surface. On which surface type would the balls travel
the maximum distance?

Options 1 gl ating rink.

2. Sea beach.

3. Cemented road.
4. Wooden tiles.

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.33 Which of the following is most desirable practice to be adopted by a teacher for intraducing the topic friction?
Options 1 Nefining the term ‘friction’
2. Exploring student’s existing ideas
3. Reading the related text

4. Listing sharing information about the concept

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.34  Which of the following methods cannot be adopted to assess skills learners in a science classroom?
A) Project Work
B) Experimentation

C) Class test
D) Field Trips
Options 1. Ny
2. C
3. B
4. A
Question Type : MCQ
Status : Answered
Chosen Option : 1
Q.35 From among the following, identify the set of Vitamins which are stored in liver and are not required by our body on

everyday basis.

Options 1. B and C

2. A,D,Eand K
3. AD,BandK
4. A,Cand E

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.36 fomfefigs et i ufgn oft w2 e 1 5= Fifew;
ATTFIT (A) : T F WIS Tl F1 A [T T TFT F L F F I 2
T (R) - Torems ot v 2fver fram & gt ot o0 3 awamf 2

OP1On 1. rfirehe W B e ShTCOT T 2
2 SRy TR A0 ET e E

3.
TR 3T 0T 3141 WET B ST T S s 5ET Samet AT 2
4.
FATHEFUT 3 T ST & 2 SR SHI0T S THERY hl 8] It T8 )

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.37  Which among the following is NOT a desirable quality of an effective mathematics teachers?

Options 1.
Help students in securing full marks in examinations and tests

2. Must create a stimulating atmosphere conducive to learning

3.
Must possess the desire, passion and patience to facilitate the learning among children

4.
Willing to learn new methods and strategies for introducing concepts to students

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.38  Shaziya asks students to compare the roots of grass with other weeds and write the difference between them.
Which of the following process skill is involved in this task

Options 1 pradicting
2. observing
3. inferencing

4. classifying

Question Type : MCQ
Status : Answered

Chosen Option : 4

Q39 jry- - 3,y =2and z =5, then what is the value of the expression (2)(?’\4.|r —3xy2— xz2 + xzzy}?

Options 1 7o
2. —123
3. -7
4. 93

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.40 X_glands are present in pairs and releases hormones which regulates blood pressure. It receives orders to secrete
hormones from Y gland. _Y_also secrete _Z hormone. What could be X, ¥ and Z respectively

Options 1 - Adrenal , Pituitary, adrenaline
2. Pancreas, Thyroid , insulin
3. Thyroid , Pituitary, adrenaline

4. Adrenal, Pituitary, growth hormone

Question Type : MCQ
Status : Answered
Chosen Option : 1
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G4 = T R IR TReATRN T S % STET O S T S wer?

Options 1 Eﬁl“aﬁT-!T

2. T F =W AW T I T
3. TEOT T EMAT
4. Torelt g 1 R

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q42 w3 e ¥ ot Te A e 30 om 1 AR F UF THS W U W a4 G HS W 0 THaE g =
ST 21 3 5 & 1 S o S o eTgua B

owens, 3o
2 /3 -5
32:4/3
+9:44/3

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q43 afisfa BT < TRATEET 2 HTEATER T 3T TN {1 SRSl ST et F ST = ¥,
ST A1 S 8 T TGS 4 ST B §9 3879 % 10 §H & T o NI W e —

Options 1.
100 FETHF 5 3107 10 7= 3 2Te I w15 Fenfilat & snerae i w o 5 et e m=nit

2. (4,3), (0,2), (6510) T (x—y) T TT T&3id it

3.

T T TereTed! % U e 10% T 21 ST 2 A 6 ] 5 g9 qed 1200 % 2 A, 9 W areataw 1o
A

4,

T ST H 6 e 3 8 Tiheid & AS AT TG oDk Usk [HSTS HerTerd & a1 9 thel STl SHeh! ] WTaT 2|

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.44 Ms. Reena has developed a tool to record the behaviours of her students such as participation in class activities,
completion of assignment, prohlem solving skills, regularity etc. The tool will give her information in the form of
ahsence or presence of those behaviours during the observation. The tool Ms Reena has developed is an example of

Options 1 Rating Scale

2. Cumulative Record
3. Check list
4. Anecdotal Record

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 4

M feem it o st H et b AT e 2
Options 1. TEZ ST

2 e SEEw

3. g0 | 2ues ===

4. fegere saaeT

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.47  The base of a prism is a pentagon. The sum of the number of faces, edges and vertices of this prism is
Options 1 31}
2. 15
3. 16
4. 32

Question Type : MCQ
Status : Answered
Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1//CBSE212/CBSE212S16D28700/1641901...

Q.48  An element ‘A’ reacts with water to form a solution. This solution turns phenolphthalein indicator pink.
Which of the following could be element ‘A’?

Options 1 Carbon

2. Sulphur
3. Silicon
4. Sodium

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q49 grientific attitude is related to which of the following -
Options 1 halief in cause & effect relationship
2. willingness to spend more time in laboratory
3. willingness to put in hard work

4. potential to memorise

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.50 oy v T T = T SR SO S W S S 70 S 3 T S 390 it e
SR Toher| oA B & oRIM-9T She S ST Ao e ST e sl §el ST sl 27

Options 1.

STEHT ST SR W SAde SUUT 3T 72 19 Sldl & SR Bial Tiafess a7 2

2

mwaﬁﬁmwa&wﬁaﬁwm% T 521 vfafe=s ST 2|

3

%mawaﬁﬁmmahﬁmaﬁm%aﬂrwuﬁﬁwm%l

4

mwmmmmﬁmaﬁm%aﬂwﬁawﬁrﬁ%ﬁm%

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.51

a [ - (] c
Letg andE be any fractions, where = =5 e
a+ ¢
b+d

Then % < < 3, It is an example of :
Options 1. Thegrem

2. Postulate

3. Axiom

4. Conjecture

Question Type : MCQ
Status : Answered
Chosen Option : 4

If 3(7x + 4) =— 4x — 8, then what is the value of % ?

Options 1. _ 3
2.4

4
3.
3

4
4. —
3

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.53 |dentity the body part of human beings based on the following characteristics

a) very hard
b) do not bend except at meeting point

Options 1. \yscle
2. Skeleton
3. Bones
4. Cartilage

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.54 forwer “wwmmyy ST S0 3 faerer 3 o0 1CT Semer =1 SuaimT 5T qaeTe 2 Heh 2 -
OPHOS . et ot TeEAT AT A

2. GEEETTT TICTEATST 3h1 e it |

4. TaTeaoT AT R FH FA A

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.55 Read the following statements and choose correct option

(Assertion) (A): A drum produces a low-pitched sound while a piano produces a high — pitched sound.
Reasoning (R): The amplitude of vibrations of the vibrating object determines the loudness of sound.

Options 4 A s true and R provides the correct explanation for it.

2. Ajstrue but R is false
3. Both A and R are false
4. Both A and R true but R is.not the correct explanation.

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.57 A middle school teacher was teaching area of geometrical shapes in the classroom. One of the students asked the
following question:
“Why the area of a figure is measured in square units?”
Which of the following statements is the most appropriate respanse to the question?

Options 1.
Adding the measures of all the sides of a figure drawn on a graph paper to calculate the area

2.

Drawing different figures on a graph paper and counting the number of squares to calculate the area

3.
The area of a square is measured in square units and the area of a circle is measured in circle units

4.
Drawing different figures on graph paper and counting the number of boundaries of the figures

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.58 A mathematics teacher encourages her students to use Heron’s formula to find out the area of land in their houses,
gardens, terrace etc. The teacher is enabling her students to

Options 1 vjerify the formula

2. Understand the formula
3. Apply the formula in real world situation

4. Analyse the formula

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.59 Two objects A & B are immersed in water and their weights are measured using a spring balance. The following table is
based on the readings obtained

Object Weight of Weight of Weight of Force of up
object in air | object in water | water thrust acting
(gm/Wt) (gm/Wt) displaced on object
(gm/Wt) (gm/Wt)
A X 55 Y 10
B 80 Q 5 s

Which of the following valuss would complets the tablqlectly
Options 1. X — 65 ,Y—10,Q=75,Z-5

2. X-5,Y-10, @~ 75, E* 5

3. X-55,Y-65,0-5,7-80

4. X—65,Y-55,Q0-5,Z-55

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.60 A person marks his goods 30% above the cost price and allows 20% discount on the marked price. His loss/gain percent
is

Options 1 gain 10%
2. no loss/gain
3. gain 4%

4. loss 4%

Question Type : MCQ
Status : Answered
Chosen Option : 3

Section : Language |
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Comprehension:
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
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Chosen Option : 3
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Chosen Option : 4
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Chosen Option : 3
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Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 1

Q@1 Read the following statements:

1. Everyone wants more free time at their disposal.
2. More free time, greater is the happiness.

Choose the correct option:
1. Aistrue but B is false.
2. Aisfalse but B is true.
3. Both A and B are true.
4. Both A and B are false.

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 2

Q2 |y para 2 ‘discretionary’ means time spent;
1. under a court’s order.
2. under a court order dictated by society.
3. at one’s own whim and fancy.
4. and official order
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.3

Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 3

Read the following statements:
“It levelled off at about two hours”. Here ‘It” stands for
1. freetime
2. well-being of an individual
3. researcher’s well-being
4. activity time

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q4

Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 4
6000 people participated in two surveys that were
conducted
1. by American Times
2. by Wharton School
3. by Marissa Sharif PhD- Assistant professor
4. online

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.5

Options 1. 1

Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 5

Read the following statements about the participants in an
online research.
A. The participants with less free hours at their disposal
were very relaxed.
B. The participants with moderate discretionary hours
were less stressed out and had better well-being.
C. The participants with higher leisure hours were
found to be very productive.

Choose the correct option:
1. Ais correct but B and C are false.
2. Aand C are false but B is correct.
3. Aand B are correct but Cis false.
4. Ajs false but B and C are correct.

2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct optionk from the given ones.

As an individual’s free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one’s day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 6

Q6 \Well-being of people with more free time'is
the well-being of people with moderate free time while
engaging in productive activites.

1. lower than
2. more than
3. superiorto
4. similar to
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 7

Q7 ‘dearth of discretionary hours’

The underlined word is afan
1. adverb
2. adjective
3. noun
4. verb

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Read the passage given below and answer the questions/ complete
the statements by choosing the correct option}s from the given ones.

As an individual's free time increases, so does that person’s sense of
well-being but only up to a point. According to a recent study by a
team of international scientists, too much free time can also be a
bad thing.

“People often complain about being too busy and express wanting
more time. But is more time actually linked to greater happiness?
We found that having a dearth of discretionary hours in one's day,
results in greater stress and lower subjective well-being,” said
Marisa Sharif, PhD, and assistant professor of marketing at the
Wharton School and lead author of the paper. “However while too
little time is bad, having more time is not always better.”

The Researchers found that as free time increased, so did well-being,
but it levelled off at about two hours and began to decline after five.
To further investigate the phenomenon, the researchers conducted
two online experiments involving more than 6,000 participants. In
the first experiment, participants were asked to imagine having a
given amount of discretionary time every day for at least six months.
Participants in both the low and high discretionary time groups
reported lower well-being than the moderate discretionary time
group. The researchers found that those with low discretionary time

felt more stressed than those with a moderate amount, contributing
to lower well-being, but those with high levels of free time left less
productive than those in the moderate group, leading them to also
have lower well-being.

The researchers found participants with more free time reported
lower levels of well-beings when engaging in unproductive activities.
However, when engaging in productive activities, those with more
free time felt similar to those with a moderate amount of free time.

SubQuestion No : 8

Q8 Which of the following options correctly interprets the
meaning of the word ‘strive’?
1. to pray to god to bless you for something.
2. to try hard to achieve something.
3. to wait patiently for something to happen.
4. to desire urgently for something.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 9

Q9 pick the correct option to state what is true liberty.

Assertion (A): Liberty, where a pedestrian could walk in the
middle of heavy traffic in a highway would lead to chaos.
Reasoning (R): Such liberties would lead to confusion and
peril. Nobody would get anywhere.
1. Alistrue but R is false.
2. Aisfalse but Ris true.
3. Both A and R are true and R is the correct
explanation of A.
4. Both A and R are true and R is not the correct
explanation of A.

Options 1. 1
2.2
3.3
4.4
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Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 10

Q10 The word ‘peril’ means the same as
1. great fear
2. great danger
3. great problem
4. likely to die
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 11

QM The best way to ensure everyone’s liberty is
1. to set strict rules for the road/safety.
2. to curtail everybody’s liberty.
3. allow liberty to no one.
4. notto allow liberty to pedestrians.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 12

Q12 \What is implied by the expressions: ‘insolence of office’

used in the passage? Pick the correct option to answer the
question.

1. Real arrogance of a policeman.

2. Real arrogance of anyone in authority.

3. Perceived arrogance of a policeman.

4. Perceived arrogance of anyone in authority.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 13

Q13 pick the correct option to justify that rules do not reduce or

outrage our rights but are necessary for preserving our
liberties.
Assertion (A): Individuals must forego personal liberty so
that they may enjoy social order.
Reasoning (R): If a public servant cannot interfere with
your liberty, they would also interfere with no one else’s.
1. Aistrue but R is false.
2. Aisfalse but Ris true.
3. Both A and R are true and R is the correct reason for
A,
4. Both A and R are true A R is not the correct reason
of A.

Options 1. 1
2.2
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3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Options 1. 1
2.2
3.3
4.4

2.
3.
4

Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 14

Q14 Choose the option that best explains what makes liberty a
reality in any society.
7

People’s discretion to assert their right.

Social order brought about by curtailing liberty.
Unlimited freedom to individuals.

All civil liberties upheld by law.

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Directions: Read the extract given below and answer the questions
follow by selecting the correct/most appropriate options.

A stout old lady was walking with her basket down the middle of a
street in Petrograd to the great confusion of the traffic and with no
small peril to herself. It was pointed out to her that the pavement
was the place for pedestrians, but she replied: I'm going to walk
where | like. We've got library now.” It did not occur to the dear old
lady that if liberty entitled the pedestrian to walk down the middle
of the road, then the end of such liberty would be universal chaos.

Everybody would be getting in everybody else’s way and nobody
would get anywhere.

Individual liberty would have become social anarchy. Thereis a
danger of the world getting liberty-drunk in these days like the old
lady with the basket, and it is just as well to remind ourselves of
what the rule of the road means. It means that in order that the
liberties of all may be preserved, the liberties of everybody must be
curtailed. When the policeman, say, at Piccadilly Circus, steps into
the middle of the road and puts out his hand, he is the symbol not of
tyranny, but of liberty. You may not think so. You may, being in a
hurry, and seeing your car pulled up by his insolence of office, feel
that your liberty has been outraged. “How dare this fellow interfere
with your free use of the public highway?” Then, if you are a
reasonable person, you will reflect that if he did not interfere with
you, he would interfere with no one, and the result would be that
Piccadilly Circus would be a maelstrom that you would never cross
at all. You have submitted to a curtailment of private liberty in order
that you may enjoy a social order which makes your liberty a reality.

Liberty is not a personal affair only, but a social contract. Itis an
accommodation of interests. In matters which do not touch
anybody else’s liberty, of course, | may be asfree as | like. If | choose
to go down the road.in a dressing- gown who shall say me nay? You
have liberty to laugh at me, but | have liberty to be indifferent to
you.

SubQuestion No : 15

Pick the appropriate option to establish that liberty is a
social contract.
A. Unchecked personal liberty will interfere with social
order.
B. Must accommodate others’ interest.
C. Individual freedom is permanent.
D. Liberty is not a personal affair.

Q.15

1. Ais false, B, C, D are true.
2. Bisfalse, A, C, D are false.
3. Cis false, A, B, D are true.
4. Disfalse, B, C, A are true.

Options 1. 1
2.2
3.3
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4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q16 \Which of the following is net a bottom-up sub skill of listening?
1. Recognizing prominent details.

2. Selecting details.

3. Finding stressed syllables.

4. Finding the main ideas.

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.17 Which one of the following is NOT recommended by National Education Policy (NEP) 20207
1. Study of classical languages as optional languages.
2. Study of foreign languages as optional languages.
3. Flexible implementation of three language formula.
4. English as medium of instruction in all stages of schooling.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.18  Ateacher in her reading class asks her learners to stop after reading half of the text and then asks them to predict
what would happen in the rest of the text and solve the problem. What does she try to promote?

1. Heuristic skills
2. Prediction skills
3. Analytical skills
4. Reading competency

Options 1. 1
2.
3.
4,

E =S RN V]

Question Type : MCQ
Status : Answered

Chosen Option : 2

Q.19 Romila Deviis reading a medical report for her friend. She wants to find the reading of the sugar level of her friend.
What does she do in her reading?
1. Scanning
2. Skimming
3. Reading for over all meaning
4. Analysing
Options 1. 1
2.
3.

4.

A WwN

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.20 \Which listening process adopts the following strategies?
Listening to the main idea, predicting, drawing inferences and summarizing.
1. Bottom-up listening processes
2. Listening for details
3. Listening to decode
4. Top-down listening processes
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21 National Education Policy 2020 provides for :
1. mother tongue as medium of instruction up to class X.
2. English as medium of instruction from early years of schooling and up to class X.
3. medium of learning should be the discretion of the state and parents.
4. mother tongue or home language as medium of instruction up to at least class VIII.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.22 All children learn the mother tongue without any serious attempt to learn it. This is described as
1. Instinctual language faculty
2. language learning
3. Innate language faculty
4, Natural language faculty

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q23 \Which one of the following is true of sign language?
1. Sign language does not have a grammar.
2. Sign language has a grammar.
3. Sign language is for all learners.
4. There is only one sign language.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.24 What are the stages involved in the process approach to writing?
1. Drafting, Brainstorming, Qutlining, Proof-reading, Revising and writing the final draft.
2. Outlining, Brainstorming, Revision, Drafting, Proof-reading and writing the final draft.
3. Brainstorming, Outlining, Drafting, Revision, Proof-reading and writing the final draft.
4. Jotting down of points, writing the first draft, proof-reading and writing.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q25 \What does school based assessment attempt to achieve?

1. It promotes teacher’s and learner’s autonomy.

2. ltincreased the work load of teachers and the school.
3. It takes away the examination board’s authority.
4,

It does not take learner into consideration.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.26 Which approach to language teaching- learning advocates ‘Input-Interaction-Output’ as essential elements of
processing of learning?
1. Natural Approach
2. Behaviourism
3. Communicative language teaching
4. Total Physical Response

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 3
Q.27

Language learning is .
1. not a conscious attempt by the learner.
2. conscious attempt by the learner.
3. an act which occurs naturally.
4. conscious attempt by the teacher.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.28  Which type of writing does the following writing task come under?
Imagine you are the person (Avind) in the story. Write a letter to your friend expressing your feeling on the day of ...
1. Descriptive writing task
2. Official writing task
3. Argumentative writing task
4. Extrapolative writing task

Options 1. 1
2.
3.
4.

£SO I V]

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q29 \What is productive vocabulary?
1. Words which are recognized as we hear.
2. Words noticed when we read beyond the lines.
3. Words that we use in writing and speaking.
4. Words which are new to the reader.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.30 ‘Understanding how a (grammatical) form is and applying the same’ is known as
1. Declarative knowledge
2. Knowledge about language
3. Linguist grammar
4. Procedural knowledge
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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